17180020.istQa

Tue Jun 28 22:09:24 2016



Number of Raw Hits

ADC of Raw Hits

[N
N
(@]

[
o
(@)

(0]
o

o2}
(@)

I
o

20

2.5

15

0.5

Entries 288000

I The number of RawHits vs. sensor ID I

] 10°
' 102
1
2c.)' A.,o 50 80 100 120. 140 !

Sensor ID

Entries 8579

3 ADC of raw hits at time bin 0 vs. channel geometry ID
x10 I—I

o 10

20 40 60 80 100
Channel ID

IEntries 288000 l

I The number of hits vs. sensor ID l

]
T120 103
© i
2100 -
E -
> -
Pz o
80 - 102
60 -
40 - 10
20
0 = 1

20 40 60 80 100 120 140
Sensor ID

IEmries 8579 |

3 ADC of raw hits at time bin 1 vs. channel geometry ID
x10 I—I

ADC of Raw Hits

2.5

15

o 10

05k .

N
TT llll LELELE LELELILE PLELSL BN LR I_l“l-: LN LR LA |

3

80 100
Channel ID

o
N
o
N
o
(2]
o

Page 2



ADC of Raw Hits

ADC of Raw Hits

2.5

15

0.5

ADC of raw hits at time bin 2 vs. channel geometry ID

><103

I_IlllIll_l__l__l_!_l_l__l_l__llllll.l“l_"lllllllllllll

3.5

2.5

15

0.5

20 40 60 80 100

Channel ID

Entries 8579

3 ADC of raw hits at time bin 4 vs. channel geometry ID
x10 L........................J

1

x10

20 40 60 80 100

Channel ID

Entries 8579

ADC of Raw Hits

2.5

15

0.5

3.5

ADC of Raw Hits

2.5

15

0.5

Page

IEntries 8579 l

ADC of raw hits at time bin 3 vs. channel geometry ID

><103

20 40 60 80 100

Channel ID

IEmries 8579 |

3 ADC of raw hits at time bin 5 vs. channel geometry ID
x10 L........................J

i

><103

80 100
Channel ID

20 40 60

3



ADC of Raw Hits

ADC of Raw Hits

3.5

2.5

15

0.5

3 ADC of raw hits at time bin 6 vs. channel geometry ID

11X
[N
1.

3.5

2.5

15

0.5

20 40 60 80 100
Channel ID

3 ADC of raw hits at time bin 8 vs. channel geometry ID
x10 I—I

1

20 40 60 80 100

Channel ID

Entries 8579

x10

Entries 8579

x10

ADC of Raw Hits

RMS noise of Raw Hits

3.5

2.5

15

0.5

60

50

40

30

20

10

IEntries 8579 l

3 ADC of raw hits at time bin 7 vs. channel geometry ID

Ll R
[N
j.

20 40 60 80 100
Channel ID

x10

IEmries 8579 |

I RMS noise of raw hits vs. channel geometry ID I

20 40 60 80 100
Channel ID

Page 4

10°

10?

10

= w



ADC of Hits

Max Time Bin Index

25

15

IEntries 8278 l

x10% |LADC of hits vs. sensor ID

T I

llll,lllll|,,l,,|,|,,l,.lllnlllllllllllllllllllll

LTTT

g

moymoe B
,

[ 1) [LRNY

-

-

-

20 40 60 80 100 120 140
Sensor ID

IEntries 8579 |

RMS noise of Hits

I Max time bin of raw hits vs group ID I

10 20 30 40 50 60 70
Group ID [12*(RDO-1)+2*ARM+GROUP]

60

50

40

30

20

10

20 40 60

Max Time Bin Index
\‘

IEntries 8278 l

80

I RMS noise of hits vs. sensor ID l

10°
102
10
100 120 140 *t
Sensor ID

IEmries 8579 |

I Max time bin of raw hits vs APV ID I

\

= 10

0

Page 5

0 100 200 300 400 500 600 700 800

APV ID [144*(RDO-1)+24*ARM+APV]



Max Time Bin Index

Cluster Size in Z of Hits

20
18
16
14
12
10

S N B~ O

al i

20

20

IEntries 8278 l

IMax time bin of hits vs. sensor ID|

40 60 80 100 120 140

Sensor ID

IEntries 8278 |

ICIuster size in Z of hits vs. sensor IDI

II| IIIIII“I I| JIIIII I”IIIIIIII IIHI

60 80 100 120 140

Sensor ID

20
18
16
14
12

Cluster Size of Hits

10

S N B O 0

20
18
16
14
12
10

Cluster Size in r-@of hits

S N B~ O @

IEntries 8278 l

I Cluster size of hits vs. sensor ID l

'u'.lm. il .m‘

20 60 80 100 120 140

Sensor ID

10?

10

IEmries 8278 |

I Cluster size in r-@of hits vs. sensor ID I

Il III'IIIII I II 1 IlllllllI I‘IIIIII|

20 60 80 100 120 140

Sensor ID

Page 6

10?

10



Columnin Z

Global Y [cm]

15

10

TITTT
bk o T

(@]
_'H_:..I....I....

IEntries 8278 l

| IST hit map in r-phi vs. Z |

02 04 06 08 1 12 14

4 g
I
JI'H‘H

‘I |||||

10

10

Row in r-¢

IEntries 8278 |

| Global X vs. Global Y |

108

10

10

0 5 10 15
Global X [cm]

IEntries 8278 l

I IST hit map in APV geometry Id vs. ladder I

a) ZSW
= [ [ | f
! [ [ 3
s [ 1910
i 20 I I -
15 10?
10
- 10
5=
5 10 15 20 25 30 35 1
APV geometry ID
IEmries 8278 |
| Global @vs. Global Z |
T 25
L,
N
[
o]
9
o

Global @[rad.]



Row

60

50

40

30

20

10

<rawhits>

1

=
S

1072

1073

I Raw Hit column vs. row: Ladder 1 Sensor 1 I

i 1
: -310‘2
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 1 Sensor ll

0 1 2 3 4 5

6

><103
7 8 9 10

EventID (Time)

IEntries 1|

IHit mean column vs. mean row: Ladder 1 Sensor 1I

o g
x 607
[ L -
© B d
) L
= 50-_ J
X <107
40: ]
30F -
[ _ -2
20F 710
10f
:. l s, o sl el s sl sl gl -3
2 ) 6 8 10 12 10

Row

60

50

40

30

20

10

l

Mean Column

IEntries O|

I Raw Hit column vs. row: Ladder 1 Sensor 2 I

Page 8

2 4 6 8 10 12
Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries Ol

IHit mean column vs. mean row: Ladder 1 Sensor 2I

1

N =

4 6 8 10 12
Mean Column

Entries

21

I Raw Hit column vs. row: Ladder 1 Sensor 3 I

2 4 6 8 10 12
Column

1073

<rawhits>

107t

10

1072

Mean Row

60

50

40

30

20

10

Page 9

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 1 Sensor 2I

x10°
2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 20

IHit mean column vs. mean row: Ladder 1 Sensor 3I

4 6 8 10

12

1073

Mean Column



<rawhits>

Mean Row

10

60

50

40

30

20

10

INumber of raw hits vs. EventID: Ladder 1 Sensor 3I

I bl Rl R R RAAA RRbb] RLAb R RLbL

EventID (Time)

IHit mean column vs. mean row: Ladder 1 Sensor 4I

M EPEPEPE PR PP e B I

2 4 6 8 10 12
Mean Column

Entries 2000

><103

2 3 4 5 6 7 8 9 10

Entries 1789

10°

107

10

IEntries 1789 l

I Raw Hit column vs. row: Ladder 1 Sensor 4 I

2 I
x 60F 10°
s0F
40 102
30
20F 10
10F —
:.I...I...I.d...l...l. 1
2 4 6 8 10 12
Column
IEntries 2000 |
INumher of raw hits vs. EventID: Ladder 1 Sensor 4I
A [TTTTTTrr[TTTT[TITT[TITT[Ir T [TIT [ TI T [TIIT[TTITT)
1% L -
< - -
g
\%

x10
7 8 9 10

EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

Entries 2102

I Raw Hit column vs. row: Ladder 1 Sensor 5 I

10?

10

PP N BPEPE PR 1

]
2

1
4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 1 Sensor 5I

x10
7 8 9 10

EventID (Time)

60

Mean Row

50

40

30

20

10

Row

60

50

40

30

20

10

IEntries 2102 l

IHit mean column vs. mean row: Ladder 1 Sensor SI

10

10

[P LN PP B 1
4 6 8 10 12

Mean Column

IEntries 3751|

I Raw Hit column vs. row: Ladder 1 Sensor 6 I

10?

10

M B LN B LR B B 1
2 4 6 8 10 12

Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries 3724 l IEntries 2000 l
IHit mean column vs. mean row: Ladder 1 Sensor 6I INumber of raw hits vs. EventID: Ladder 1 Sensor 6I

- A RAAAN AR L LR R LR RAREN RRREN RAREE LERRY
- ﬂ 10 - =
- 10° s [ ]
g g | :
[ v - .
- 10? i
= — 10
C ] _
- i 3
e o el oo o 1 e o o 1 o 1 1 x10
2 4 6 8 10 12 4 5 6 7 8 9 10
Mean Column EventID (Time)
Entries 35 Entries 28
I Raw Hit column vs. row: Ladder 2 Sensor 1 I IHit mean column vs. mean row: Ladder 2 Sensor 1I
- — 1 x 60 - —_ 1
3 — 2 ok —
C — . —
: f— : —
= — 40 —
X e 107 [ e 107!
- — 30fF —
[ F— [ —
- 107 r 1072
L — [ —
- — 10 —
L — B ]
- I B I
: I : —
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

Entries 2000

INumber of raw hits vs. EventID: Ladder 2 Sensor 1I

TFI'FrFI'FFrI'FI'FrI'FI'FrFI'FFrI‘FI‘FrFI‘FFrFI‘FFrI‘FFFrFI‘I‘F

10 .
sy ....|....|....|....|....|....|....-><103
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
[Entries 1]
IHit mean column vs. mean row: Ladder 2 Sensor 2I

- 1
60_—
50F

X 1071
40
30f

[ -2
20f 10
10F

. 107

10 12
Mean Column

IEntries 2|

I Raw Hit column vs. row: Ladder 2 Sensor 2 I

= F 1
& 60f III
50 y
[ <107
40_— ]
30F -
20:_ =102
10f
I TP TP TP IPEE I -3
2 4 6 8 10 12 10
Column
IEmries 2000 |
INumher of raw hits vs. EventID: Ladder 2 Sensor 2I
A
9
= 1
g
Vv
1071
1072
1073
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

10

Entries 62

I Raw Hit column vs. row: Ladder 2 Sensor 3 I

- 1
.- 10—1
:- — 10—2
Y TP TP TP ure EPUPEPE IPEPEP B
2 4 6 8 10 12

Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 2 Sensor 3I

'I'FI'FrFI'FFrI'FI'FrI'FI'FrFFFFrI'FFFrFI‘I‘FrFI‘FFrI‘FFFrFI‘FI‘
M A Y PP PP PP PRI PP PP P ><103

0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

Entries 44

IHit mean column vs. mean row: Ladder 2 Sensor 3I

2 I
x 60
C -
[3M] L
Q L
= 50 1
40
30:_ 1071
20F
10F
[ — 10—2
:....I...I...I...I...I.

1
2 4 6 8 10 12
Mean Column

IEntries O|

I Raw Hit column vs. row: Ladder 2 Sensor 4 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 14



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 2 Sensor 4I

1

[Entries 0]

N =

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 2 Sensor 5 I

1

[Entries 0]

2 4 6 8 10 12
Column

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 2 Sensor 4I

10

<rawhits>

107t

1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 2 Sensor 5I

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 15



<rawhits>

107t

10

1072

Mean Row

0 1 2 3 4 5 6 7 8

60

50

40

30

20

10

Entries 2000

INumber of raw hits vs. EventID: Ladder 2 Sensor SI

><103
9 10

EventID (Time)

[Entries 0]

IHit mean column vs. mean row: Ladder 2 Sensor 6I

1

2 4 6 8 10 12
Mean Column

Row

<rawhits>

[Enties o]

I Raw Hit column vs. row: Ladder 2 Sensor 6 I

LB B R R B B AL L B L B AT
60f -
s0F -

:

30 -

20F -

10 -

:.I...I...I...I...I...I.:

2 4 6 8 10 12
Column
IEmries 2000 |
INumher of raw hits vs. EventID: Ladder 2 Sensor 6I
10
1
1071
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 16



Row

60

50

40

30

20

10

<rawhits>

1

=
S

1072

1073

I Raw Hit column vs. row: Ladder 3 Sensor 1 I

i 1
: -310‘2
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 3 Sensor ll

0 1 2 3 4 5

6

><103
7 8 9 10

EventID (Time)

60

Mean Row

50

40

30

20

10

Row

60

50

40

30

20

10

[Envies 1)

IHit mean column vs. mean row: Ladder 3 Sensor 1I

3 B
: -310‘2
E-IZIIHLIl.”é”.;3”.1'0.”1I2. 107

Mean Column

Entries 37

I Raw Hit column vs. row: Ladder 3 Sensor 2 I

1072

1072

2 4 6 8 10 12
Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

Entries

IHit mean column vs. mean row: Ladder 3 Sensor 2I

N
Ny

6 8 10 12

Mean Column

I Raw Hit column vs. row: Ladder 3 Sensor 3 I

10 12

Column

107t

1072

1

107t

1072

1073

32

<rawhits>

Mean Row

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 3 Sensor 2I

'FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
10 -
-....|....|.... ....|....|....|....|....|....|....-><103
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 1|

IHit mean column vs. mean row: Ladder 3 Sensor 3I

60
50
40

30

20

10

10 12
Mean Column



Entries 2000

INumber of raw hits vs. EventID: Ladder 3 Sensor 3I

A
2
= 1
g
\Y]
107t
1072
1073
x10°
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
[Entries 0]
IHit mean column vs. mean row: Ladder 3 Sensor 4I
O LALLM L L L I
x 60 -
c [ .
© L J
o} [ J
250_- -
of :
cle] -
20F -
10F -
S TP PP TP PP TP B

2 4 6 8 10 12

Mean Column

[Enties o]

I Raw Hit column vs. row: Ladder 3 Sensor 4 I

: prroTTrTTTTTTT T
x 60 -
s0F -
:
30 -
20F -
10 -
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Column
IEmries 2000 |
INumher of raw hits vs. EventID: Ladder 3 Sensor 4I
N
z
= 10
g
\%
1
1071
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 19



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 3 Sensor 5 I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 3 Sensor 5I

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 3 Sensor SI

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 3 Sensor 6 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 20



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 3 Sensor 6I

1

[Entries 0]

N =

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 4 Sensor 1 I

1

[Entries 0]

2 4 6 8 10 12
Column

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 3 Sensor 6I

10

<rawhits>

107t

1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 4 Sensor 1I

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 21



<rawhits>

107t

10

1072

Mean Row

0 1 2 3 4 5 6 7 8

60

50

40

30

20

10

Entries 2000

INumber of raw hits vs. EventID: Ladder 4 Sensor 1I

><103
9 10

EventID (Time)

[Entries 0]

IHit mean column vs. mean row: Ladder 4 Sensor 2I

1

2 4 6 8 10 12
Mean Column

Row

<rawhits>

[Enties o]

I Raw Hit column vs. row: Ladder 4 Sensor 2 I

__I_I_I_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l__
60f -
:
:
aof :
20F -
10 ;
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Column
IEmries 2000 |
INumher of raw hits vs. EventID: Ladder 4 Sensor 2I
10
1
107t
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 22



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 4 Sensor 3 I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 4 Sensor 3I

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 4 Sensor 3I

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries 3|

N =

I Raw Hit column vs. row: Ladder 4 Sensor 4 I

Row

60

50

40

30

20

10

10 12

Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

Entries 1 IEntries 2000 l
IHit mean column vs. mean row: Ladder 4 Sensor 4I INumber of raw hits vs. EventID: Ladder 4 Sensor 4I

- 1 A

C 2

- = .
g : g

[ ] Y

- <107

n ] 107*
" _ -2

-— - 10 10_2

1073 x10°

FEECIRC I BN RN R RN U N NN R R A 10—3

1
2 4 6 8 10 12
Mean Column EventID (Time)

O 1.2 3 4 5 6 7 8 9 10

[Entries 0] [Envies 0]

I Raw Hit column vs. row: Ladder 4 Sensor 5 I IHit mean column vs. mean row: Ladder 4 Sensor 5I

60

1

l

Mean Row

50

40

30

20

10

2 4 6 8 10 12 2 4 6 8 10 12

Column Mean Column
Page 24



<rawhits>

107t

10

1072

Mean Row

0 1 2 3 4 5 6 7 8

60

50

40

30

20

10

Entries 2000

INumber of raw hits vs. EventID: Ladder 4 Sensor SI

><103
9 10

EventID (Time)

[Entries 0]

IHit mean column vs. mean row: Ladder 4 Sensor 6I

1

2 4 6 8 10 12
Mean Column

Row

<rawhits>

[Enties o]

I Raw Hit column vs. row: Ladder 4 Sensor 6 I

LB B R R B B AL L B L B AT
60f -
s0F -

:

30 -

20F -

10 -

:.I...I...I...I...I...I.:

2 4 6 8 10 12
Column
IEmries 2000 |
INumher of raw hits vs. EventID: Ladder 4 Sensor 6I
10
1
1071
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 25



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 5 Sensor 1 I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 5 Sensor ll

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 5 Sensor 1I

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries 2|

N =

I Raw Hit column vs. row: Ladder 5 Sensor 2 I

Row

60

50

40

30

20

10

10 12

Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 5 Sensor 2I

1

107t

]
2 4 6 8 10 12

Mean Column

I Raw Hit column vs. row: Ladder 5 Sensor 3 I

1

2 4 6 8 10 12
Column

[Entries 1]

[Entries 0]

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 5 Sensor 2I

<rawhits>

107t

><103
O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 5 Sensor 3I

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 27



<rawhits>

10

107t

1072

Mean Row

60

50

40

30

20

10

INumber of raw hits vs. EventID: Ladder 5 Sensor 3I

><1O3
2 3 4 5 6 7 8 9 10

EventID (Time)

Entries
IHit mean column vs. mean row: Ladder 5 Sensor 4I
1
<107
=107
-3
10

4 6 8 10 12
Mean Column

Entries 2000

11

Row

Entries 16

I Raw Hit column vs. row: Ladder 5 Sensor 4 I

<rawhits>
H
o

2

P IR T BN RN R U U N NN U U 10—3

4 6 8 10 12
Column

IEmries 2000 |

INumher of raw hits vs. EventID: Ladder 5 Sensor 4I

><103
2 3 4 5 6 7 8 9 10

EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 5 Sensor 5 I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 5 Sensor 5I

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 5 Sensor SI

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 5 Sensor 6 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 29



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 5 Sensor 6I

1

[Entries 0]

N =

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 6 Sensor 1 I

1

[Entries 0]

2 4 6 8 10 12
Column

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 5 Sensor 6I

10

<rawhits>

107t

1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 6 Sensor 1I

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 30



<rawhits>

107t

10

1072

Mean Row

60

50

40

30

20

10

Entries 2000

INumber of raw hits vs. EventID: Ladder 6 Sensor 1I

><103
2 3 4 5 6 7 8 9 10

EventID (Time)

[Entries 1]
1

IHit mean column vs. mean row: Ladder 6 Sensor 2I

107t

1072

-3
2 6 8 10 12 10

Mean Column

IEntries 1|

I Raw Hit column vs. row: Ladder 6 Sensor 2 I

2 F 1
& 60f III
50 y
X <107
40_— ]
30F -
20:_ =102
10f
I TP TP TP IPEE I -3
2 Z 6 8 10 12 10
Column
IEmries 2000 |
INumher of raw hits vs. EventID: Ladder 6 Sensor 2I
N
2!
= 1
g
Y]
107t
1072
1073
><103
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

Entries 13

I Raw Hit column vs. row: Ladder 6 Sensor 3 I

i 1
; -310‘2
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 6 Sensor 3I

0 1 2 3 4 5

6

><103
7 8 9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 6 Sensor 3I

o g
x 607
[ L -
© B d
) L
= 50-_ J
X <107
40: ]
30F -
[ _ -2
20F 710
10F
:.I...I...I...I...I...ln -3
2 ) 6 8 10 12 10

Mean Column

IEntries O|

I Raw Hit column vs. row: Ladder 6 Sensor 4 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 32



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries Ol

IHit mean column vs. mean row: Ladder 6 Sensor 4I

1

N =

4 6 8 10 12
Mean Column

IEntries 2|

I Raw Hit column vs. row: Ladder 6 Sensor 5 I

2 4 6 8 10 12
Column

<rawhits>

107t

10

1072

Mean Row

Page 33

60

50

40

30

20

10

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 6 Sensor 4I

2 3 4 5 6 7 8

><103
9 10

EventID (Time)

IEntries 1|

IHit mean column vs. mean row: Ladder 6 Sensor 5I

4 6 8 10

12

Mean Column



Entries 2000

INumber of raw hits vs. EventID: Ladder 6 Sensor SI

<rawhits>
o
A

1072

1073

1074 3x10°
o 1 2 3 4 5 6 7 8 9 10

EventID (Time)

[Entries 0]

IHit mean column vs. mean row: Ladder 6 Sensor 6I

1

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

[Enties o]

I Raw Hit column vs. row: Ladder 6 Sensor 6 I

: prroTTrTTTTTTT T
x 60 -
s0F -
:
30 -
20F -
10 -
I TP TP TP IPETE I
2 4 6 8 10 12
Column
IEmries 2000 |
INumber of raw hits vs. EventID: Ladder 6 Sensor 6I
A
9
= 10
g
\Y]
1
1071
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 34



Row

<rawhits>

60

50

40

30

20

10

1

I Raw Hit column vs. row: Ladder 7 Sensor 1 I

107t

=107

FEECIRC I BN RN R RN U N NN R R A 10—3

1
2 4 6 8 10 12
Column

Entries 2000
INumber of raw hits vs. EventID: Ladder 7 Sensor ll

I bl Rl RS b RAAL Rbb] Rhbb R RLbb

P PP T PRI P PP PP PR PP PR P ><103

0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

[Envies 2]

IHit mean column vs. mean row: Ladder 7 Sensor 1I

60

Mean Row

50

107t
40

30

=107

20

10

l s, o sl el s sl sl gl -3
2 ) 6 8 10 12 10

Mean Column

IEntries O|

I Raw Hit column vs. row: Ladder 7 Sensor 2 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 35



Mean Row

Row

IEntries Ol

IHit mean column vs. mean row: Ladder 7 Sensor 2I

1

60

50

40

30

20

10

4 6 8 10 12
Mean Column

N =

Entries

23

I Raw Hit column vs. row: Ladder 7 Sensor 3 I

1
60 II

50 .

107t
40

30

-2
20 10

10

-3
2 2 6 8 10 12 10

Column

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 7 Sensor 2I

N
2
= 10
g
\Y
1
107t
1072
x10°
0 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 13
IHit mean column vs. mean row: Ladder 7 Sensor 3I
= 1
g 60 III
c -
© -
(]
= 5o 4
<107
40 ]
30 -
- -2
20 310
10
107

2 4 6 8 10 12

Mean Column
Page 36



INumber of raw hits vs. EventID: Ladder 7 Sensor 3I

N
2
g
©
5 10
1
107t
x10°
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
[Entries 1]
IHit mean column vs. mean row: Ladder 7 Sensor 4I
= 1
£ 60
C -
3] -
(]
= 5o 4
<107
40 -
30 -
- -2
20 310
10
107

2 4 6 8 10 12
Mean Column

Entries 2000

IEntries 2|

I Raw Hit column vs. row: Ladder 7 Sensor 4 I

Row
.
[EEY

-3
2 ) 6 8 10 12 10

Column

IEmries 2000 |

INumher of raw hits vs. EventID: Ladder 7 Sensor 4I

o 1
E

g

Vv

107t

1072

1073

><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 7 Sensor 5 I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 7 Sensor 5I

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 7 Sensor SI

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries 1|

N =

I Raw Hit column vs. row: Ladder 7 Sensor 6 I

z f
x 60
sof:
30;
20f -
10;
: 2 4 6 8 10 12
Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries 1|

IHit mean column vs. mean row: Ladder 7 Sensor 6I

]
2 4 6 8 10

Mean Column

IEntries 1|

12

107t

1072

1072

I Raw Hit column vs. row: Ladder 8 Sensor 1 I

12
Column

<rawhits>

-
(e}
i

1072

60

Mean Row

50

40

30

20

10

Page 39

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 7 Sensor 6I

><103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 1|

IHit mean column vs. mean row: Ladder 8 Sensor 1I

4 6 8 10 12
Mean Column



<rawhits>

-
(=}
1N

1072

1073

Mean Row

60

50

40

30

20

10

INumber of raw hits vs. EventID: Ladder 8 Sensor 1I

2 3 4 5 6 7 8
EventID (Time)

Entries 2000

><103
9 10

Entries

IHit mean column vs. mean row: Ladder 8 Sensor 2I

_— —
I
I I
— |
fr— I
|
4 6 8 10 12

Mean Column

107t

1072

Row

60

50

40

30

20

10

<rawhits>

10

Entries 49
I Raw Hit column vs. row: Ladder 8 Sensor 2 I
-_ I
[ — 1
" |
: |
- [ | —
-_ —
. - 107
3 |
[ —
i 1072
[ ]
E —
ST El BN A A B B B
2 4 6 8 10 12
Column

IEmries 2000 |

INumber of raw hits vs. EventID: Ladder 8 Sensor 2I

1 2 3 4 5 6 7 8 9 10
EventID (Time)

><103



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 8 Sensor 3 I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 8 Sensor 3I

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 8 Sensor 3I

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 8 Sensor 4 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 41



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

1

IEntries Ol

IHit mean column vs. mean row: Ladder 8 Sensor 4I

N =

4 6 8 10

12

Mean Column

Entries

12

Raw Hit column vs. row: Ladder 8 Sensor 5

L e v cotumn vo rou: Ladder 8 Sensor®

2 4 6 8 10

12
Column

10

<rawhits>

107t

1072

60

Mean Row

50

40

30

20

10

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 8 Sensor 4I

><103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7 |

IHit mean column vs. mean row: Ladder 8 Sensor 5I

4 6 8 10 12
Mean Column



INumber of raw hits vs. EventID: Ladder 8 Sensor SI

N
2
< 10
g
vV
1
107t
1072
><103
0 1 2 3 4 5 6 7 8 9 10

Mean Row

EventID (Time)

[Entries 1]
IHit mean column vs. mean row: Ladder 8 Sensor 6I
1
60
50 7
<107
40 -
30 -
- -2
20 310
10
107

2 4 6 8 10 12
Mean Column

Entries 2000

IEntries 1|

I Raw Hit column vs. row: Ladder 8 Sensor 6 I

Row
.
[EEY

-3
2 ) 6 8 10 12 10

Column

IEmries 2000 |

INumber of raw hits vs. EventID: Ladder 8 Sensor 6I

N
2
= 1

g

Vv

107t

1072

1073

><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 9 Sensor 1 I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 9 Sensor ll

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 9 Sensor 1I

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 9 Sensor 2 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 44



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries Ol

IHit mean column vs. mean row: Ladder 9 Sensor 2I

1

N =

4 6 8 10 12
Mean Column

Entries

12

I Raw Hit column vs. row: Ladder 9 Sensor 3 I

2 4 6 8 10 12
Column

<rawhits>

107t

10

1072

Mean Row

60

50

40

30

20

10

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 9 Sensor 2I

2 3 4 5 6 7 8

><103
9 10

EventID (Time)

IEntries 7 |

IHit mean column vs. mean row: Ladder 9 Sensor 3I

4 6 8 10

12

Mean Column



Entries 2000

INumber of raw hits vs. EventID: Ladder 9 Sensor 3I

N
2
< 10
g
\Y
1
1071
-2
10 103
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
[Entries 0
IHit mean column vs. mean row: Ladder 9 Sensor 4I
% -IIIIIIIIIIIIIIIIIIIIIII
@ 60
c
3]
()
=

50

40

30

20

10

2 4 6 8 10 12
Mean Column

[Enties o]

I Raw Hit column vs. row: Ladder 9 Sensor 4 I

: prroTTrTTTTTTT T
x 60 -
s0F -
:
30 -
20F -
10 -
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Column
IEmries 2000 |
INumher of raw hits vs. EventID: Ladder 9 Sensor 4I
N
z
= 10
g
\%
1
1071
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 46



Row

60

50

40

30

20

10

<rawhits>

|
o
i

1072

0 1 2 3 4 5 6 7 8

I Raw Hit column vs. row: Ladder 9 Sensor 5 I

]
2 4 6 8 10 12

Column

INumber of raw hits vs. EventID: Ladder 9 Sensor 5I

EventID (Time)

1

107t

=107

1072

Entries 2000

><103

9 10

IEntries 1|

IHit mean column vs. mean row: Ladder 9 Sensor SI

o g
x 607
[ L -
© B d
) L
= 50-_ J
X <107
40: ]
30F -
[ _ -2
20F 710
10f
:. l s, o sl el s sl sl gl -3
2 ) 6 8 10 12 10

Mean Column

IEntries O|

I Raw Hit column vs. row: Ladder 9 Sensor 6 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 47



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 9 Sensor 6I

1

[Entries 0]

N =

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 10 Sensor 1I

1

[Entries 0]

2 4 6 8 10 12
Column

IEntries 2000 l

INumber of raw hits vs. EventID: Ladder 9 Sensor 6I

10

<rawhits>

107t

1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 10 Sensor il

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 48



<rawhits>

107t

10

1072

Mean Row

0 1 2 3 4 5 6 7 8

60

50

40

30

20

10

Entries 2000

INumber of raw hits vs. EventID: Ladder 10 Sensor j

><103
9 10

EventID (Time)

[Entries 0]

IHit mean column vs. mean row: Ladder 10 Sensor fl

1

2 4 6 8 10 12
Mean Column

Row

<rawhits>

[Enties o]

I Raw Hit column vs. row: Ladder 10 Sensor 2 I

__I_I_I_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l__
60f -
:
:
aof :
20F -
10 ;
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 10 Sensor 2I
10
1
107t
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 49



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 10 Sensor 3 I

1

N =

4 6 8 10 12
Column

Entries 2000

humber of raw hits vs. EventID: Ladder 10 Sensor 3I

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 10 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 10 Sensor 4 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 50



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 10 Sensorj

1

[Entries 0]

N =

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 10 Sensor 5 I

1

[Entries 0]

2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 10 Sensor 4I

10

<rawhits>

107t

1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 10 Sensor j

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 51



humber of raw hits vs. EventID: Ladder 10 Sensor 5I

N
2
= 10
g
vV
1
107t
1072
><103
0 1 2 3 4 5 6 7 8 9 10

Mean Row

EventID (Time)

[Entries 1]
IHit mean column vs. mean row: Ladder 10 Sensor EI
1
60
50 7
<107
40 -
30 -
- -2
20 310
10
107

10 12
Mean Column

Entries 2000

Row

IEntries 1|

I Raw Hit column vs. row: Ladder 10 Sensor 6 I

<rawhits>
H

107t

2 4 6 8 10 12
Column

1073

IEmries 2000 |

humber of raw hits vs. EventID: Ladder 10 Sensor 6I

1 2 3 4 5 6 7 8
EventID (Time)

><103

9 10



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 11 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 11 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 11 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 11 Sensor 2 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 53



Mean Row

Row

IEntries Ol

IHit mean column vs. mean row: Ladder 11 Sensor a

crrTrrr[ T T T
60f -
50 -
:
30 -
20F -
10 -
: M S T B B T :
2 4 6 8 10 12
Mean Column
Entries 11
I Raw Hit column vs. row: Ladder 11 Sensor 3 I
1
60 II
50 .
<107
40 .
30 4
- -2
20 710
10
107

2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 11 Sensor 2I

N
2
= 10
g
\Y
1
107t
1072
x10°
0 1 2 3 4 5 6 7 8 9 10
EventID (Time)
IEntries 7 |
IHit mean column vs. mean row: Ladder 11 Sensor j
= 1
g 60 III
C -
@ -
(]
= 5o 4
<107
40 ]
30 -
- -2
20 310
10
107

2 4 6 8 10 12

Mean Column
Page 54



<rawhits>

107!

10

1072

Mean Row

0 1 2 3 4 5 6 7 8

60

50

40

30

20

10

Entries 2000

humber of raw hits vs. EventID: Ladder 11 Sensor 3I

><103
9 10

EventID (Time)

[Entries 0]

IHit mean column vs. mean row: Ladder 11 Sensor:l

1

2 4 6 8 10 12
Mean Column

[Enties o]

I Raw Hit column vs. row: Ladder 11 Sensor 4 I

N L L L L LI
x 60 -
s0F -
:
30 -
:
10 -
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 11 Sensor 4I
N
2
= 10
g
\%
1
107t
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 55



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 11 Sensor 5 I

1

N =

4 6 8 10 12
Column

Entries 2000

humher of raw hits vs. EventID: Ladder 11 Sensor SI

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 11 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 11 Sensor 6 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 56



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries Ol

IHit mean column vs. mean row: Ladder 11 Sensor ﬂ

1

N =

4 6 8 10 12
Mean Column

IEntries 1|

I Raw Hit column vs. row: Ladder 12 Sensor 1I

2 4 6 8 10 12
Column

<rawhits>

107t

10

1072

Mean Row

60

50

40

30

20

10

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 11 Sensor GI

2 3 4 5 6 7 8

><103
9 10

EventID (Time)

IEntries 1|

IHit mean column vs. mean row: Ladder 12 Sensor il

4 6 8 10

12

Mean Column



Entries 2000

INumber of raw hits vs. EventID: Ladder 12 Sensor j

A
k2
= 1
g
Vv
1071
1072
1073
x10°
0 1 2 3 4 5 6 7 8 9 10
EventID (Time)
[Entries 0]
IHit mean column vs. mean row: Ladder 12 Sensor fl
O LALLM L L L I
x 60 -
c [ .
© L 4
o} [ 4
250_- -
of :
cle] -
20F -
10F -
S TP PP TP PP TP B

2 4 6 8 10 12

Mean Column

[Enties o]

I Raw Hit column vs. row: Ladder 12 Sensor 2 I

N L L L L LI
x 60 -
s0F -
:
30 -
:
10 -
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 12 Sensor 2I
N
2
= 10
g
\%
1
107t
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 58



Row

60

50

40

30

20

10

<rawhits>

1

=
S

1072

1073

0 1 2 3 4 5 6 7 8

I Raw Hit column vs. row: Ladder 12 Sensor 3 I

i 1
: -310‘2
Column

Entries 2000

humber of raw hits vs. EventID: Ladder 12 Sensor 3I

><103
9 10

EventID (Time)

Mean Row

Row

IEntries 1|

IHit mean column vs. mean row: Ladder 12 Sensor j

= 1
607 II
s0F .

X <107
40: ]
30F -

: - -2
20? 10
10F

I TP TP TP IPEE I -3

2 4 6 8 10 12 10
Mean Column
Entries 102
I Raw Hit column vs. row: Ladder 12 Sensor 4 I
60
50 1
40
30 1072
20
10 1072
2 4 6 8 10 12
Column

Page 59



Mean Row

Row

Entries

IHit mean column vs. mean row: Ladder 12 Sensorj

1
1071
1072
 EPEPEPE B BPEPETE BPEPEPE PR B
2 4 6 8 10 12
Mean Column
Entries

I Raw Hit column vs. row: Ladder 12 Sensor 5 I

60 I 1
50 ]
40

— 10—1
30 -
20 1

1072

10

2 4 6 8 10 12
Column

63 IEntries 2000 l
bumber of raw hits vs. EventID: Ladder 12 Sensor 4I

A (TTTT T T [ TIT [T I T[T AT [ TT T T[T T[T I [ TTT T TTTT
[ - <
=
\Y
10 -
ettt b b bt Jx10°
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
57 Entries 39
IHit mean column vs. mean row: Ladder 12 Sensor j
g
x 60 1
c
@ 4
(] -
= 5o 4
40
--10‘1
30 .
20 )
107
10

2 4 6 8 10 12

Mean Column
Page 60



<rawhits>

Mean Row

10

o
(=Y

60

50

40

30

20

10

Entries 2000

humber of raw hits vs. EventID: Ladder 12 Sensor 5I

l

.|....|....|....'><103

2

3

4 5 6

7 8 9 10

EventID (Time)

Entries 14

IHit mean column vs. mean row: Ladder 12 Sensor EI

1

107t

1072

1073

10
Mean Column

Entries 23

I Raw Hit column vs. row: Ladder 12 Sensor 6 I

= F 1
& 60f III
s0F .
X <107
40_— ]
30F -
: - -2
20-_ 10
10F
I TP P RPN IPEPPE I -3
2 4 6 8 10 12 10
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 12 Sensor 6I
A
2
<
©
5 10
1
1071
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 13 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 13 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 13 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries 1|

N =

I Raw Hit column vs. row: Ladder 13 Sensor 2 I

Row

60

50

40

30

20

10

10 12

Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

[Entries 1]
1

IHit mean column vs. mean row: Ladder 13 Sensor a

=
o
1N

=107

1072

]
2 4 6 8 10 12

Mean Column

[Entries 0]

I Raw Hit column vs. row: Ladder 13 Sensor 3 I

1

2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 13 Sensor 2I

<rawhits>

-
o
N

1072

><103
O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 13 Sensor j

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 63



<rawhits>

107t

10

1072

Mean Row

0 1 2 3 4 5 6 7 8

60

50

40

30

20

10

Entries 2000

humber of raw hits vs. EventID: Ladder 13 Sensor 3I

><103
9 10

EventID (Time)

[Entries 0]

IHit mean column vs. mean row: Ladder 13 Sensor:l

1

2 4 6 8 10 12
Mean Column

Row

<rawhits>

[Enties o]

I Raw Hit column vs. row: Ladder 13 Sensor 4 I

R L L B L R B
60f -
s0F -

:

30 -

20F -

10 -

:.I...I...I...I...I...I.:

2 4 6 8 10 12
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 13 Sensor 4I
10
1
1071
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 64



Row

60

50

40

30

20

10

<rawhits>

1

=
S

1072

1073

I Raw Hit column vs. row: Ladder 13 Sensor 5 I

i 1
: -310‘2
Column

Entries 2000

humber of raw hits vs. EventID: Ladder 13 Sensor SI

0 1 2 3 4 5

6

><103
7 8 9 10

EventID (Time)

IEntries 1|

IHit mean column vs. mean row: Ladder 13 Sensor j

o 1
x 60
[ . -
@ [ .
<) L
= 50 - J
X <107
40: ]
30F -
: - -2
20 10
10F
I TP TP TP IPEE I -3
2 4 6 8 10 12 10
Mean Column
IEntries 1|
I Raw Hit column vs. row: Ladder 13 Sensor 6 I
% : [ |
x 607
50
40f
30F
20F
10F

2 4 6 8 10 12
Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

[Entries 1]
1

IHit mean column vs. mean row: Ladder 13 Sensor ﬂ

=
o
1N

=107

1072

]
2 4 6 8 10 12

Mean Column

[Entries 0]

I Raw Hit column vs. row: Ladder 14 Sensor 1I

1

2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 13 Sensor GI

<rawhits>

-
o
N

1072

><103
O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 14 Sensor il

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 66



<rawhits>

107t

10

1072

Mean Row

60

50

40

30

20

10

Entries 2000

INumber of raw hits vs. EventID: Ladder 14 Sensor j

><103
2 3 4 5 6 7 8 9 10

EventID (Time)

[Entries 1]
1

IHit mean column vs. mean row: Ladder 14 Sensor fl

107t

1072

-3
2 6 8 10 12 10

Mean Column

IEntries 2|

I Raw Hit column vs. row: Ladder 14 Sensor 2 I

: of 7
x 60
50 y
[ <107
40_— ]
30F -
20:_ =107
10f
I TP TP TP IPEE I -3
2 4 6 8 10 12 10
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 14 Sensor 2I
A
9
= 1
g
\Y]
1071
1072
1073
x10°

0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 14 Sensor 3 I

1

N =

4 6 8 10 12
Column

Entries 2000

humher of raw hits vs. EventID: Ladder 14 Sensor 3I

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 14 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 14 Sensor 4 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 68



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 14 Sensorj

1

[Entries 0]

N =

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 14 Sensor 5 I

1

[Entries 0]

2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 14 Sensor 4I

10

<rawhits>

107t

1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 14 Sensor j

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 69



<rawhits>

Entries 2000

humber of raw hits vs. EventID: Ladder 14 Sensor 5I

10

107t

1072

Mean Row

><103
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

[Entries 2]

IHit mean column vs. mean row: Ladder 14 Sensor EI

1

60F
50F

X 1071
40
30f

[ -2
20 10
10F

i B B B T 10—3

2 4 6 8 10 12
Mean Column

IEntries 2|

I Raw Hit column vs. row: Ladder 14 Sensor 6 I

= - III1
x 60
s0F
- 107t
40
30
[ -2
20f 10
10f
:.I...I...I...I...I. -3
2 4 6 8 10 12 10
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 14 Sensor 6I
A (TTTT T T[T T [T [ LT[ TT T [T T[T T T T
2
<
g
\Y

....|....|....|....|....|....|....|....|....><103

0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)




Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 15 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 15 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 15 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 15 Sensor 2 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 71



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries Ol

IHit mean column vs. mean row: Ladder 15 Sensor a

1

N =

4 6 8 10 12
Mean Column

IEntries 3|

I Raw Hit column vs. row: Ladder 15 Sensor 3 I

2 4 6 8 10 12
Column

<rawhits>

107t

10

1072

Mean Row

60

50

40

30

20

10

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 15 Sensor 2I

2 3 4 5 6 7 8

><103
9 10

EventID (Time)

IEntries 3|

IHit mean column vs. mean row: Ladder 15 Sensor j

4 6 8 10 12

Mean Column



<rawhits>

Mean Row

humber of raw hits vs. EventID: Ladder 15 Sensor SI

T FEEY | FYRT | FRTTE PETTI FITTI PETTE PETF PITT PITT ><1O3

0

60

50

40

30

20

10

1

2 3 4 5 6 7 8 9 10
EventID (Time)

IHit mean column vs. mean row: Ladder 15 Sensor:l

1

107t

1072

-3
2 6 8 10 12 10

Mean Column

Entries 2000

I bl Rl R R RAAA RRbb] RLAb R RLbL

[Entries 1]

IEntries 1|

I Raw Hit column vs. row: Ladder 15 Sensor 4 I

= F 1
& 60f III
50 y
X <107
40_— ]
30F -
20:_ =102
10f
I TP TP TP IPEE I -3
2 4 6 8 10 12 10
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 15 Sensor 4I
A
210!
e
g
Y
1072
1073
107
><103
0O 1 2 3 4 5 6 7 8 9 10

Page 73

EventID (Time)



Row

60

50

40

30

20

10

<rawhits>

1

=
S

1072

1073

I Raw Hit column vs. row: Ladder 15 Sensor 5 I

i 1
: -310‘2
Column

Entries 2000

humber of raw hits vs. EventID: Ladder 15 Sensor SI

0 1 2 3 4 5

6

><103
7 8 9 10

EventID (Time)

IEntries 1|

IHit mean column vs. mean row: Ladder 15 Sensor j

o g
x 607
[ L -
© B d
) L
= 50-_ J
X <107
40: ]
30F -
[ _ -2
20F 710
10f
:. l s, o sl el s sl sl gl -3
2 ) 6 8 10 12 10

Mean Column

IEntries O|

I Raw Hit column vs. row: Ladder 15 Sensor 6 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 74



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 15 Sensor ﬂ

1

[Entries 0]

N =

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 16 Sensor 1I

1

[Entries 0]

2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 15 Sensor GI

10

<rawhits>

107t

1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 16 Sensor il

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 75



<rawhits>

107t

10

1072

Mean Row

0 1 2 3 4 5 6 7 8

60

50

40

30

20

10

Entries 2000

INumber of raw hits vs. EventID: Ladder 16 Sensor j

><103
9 10

EventID (Time)

[Entries 0]

IHit mean column vs. mean row: Ladder 16 Sensor fl

1

2 4 6 8 10 12
Mean Column

Row

<rawhits>

[Enties o]

I Raw Hit column vs. row: Ladder 16 Sensor 2 I

__I_I_I_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l__
60f -
:
:
aof :
20F -
10 ;
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 16 Sensor 2I
10
1
107t
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 76



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 16 Sensor 3 I

1

N =

4 6 8 10 12
Column

Entries 2000

humber of raw hits vs. EventID: Ladder 16 Sensor 3I

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 16 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries 1|

N =

I Raw Hit column vs. row: Ladder 16 Sensor 4 I

Row

60

50

40

30

20

10

12
Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries 1|

IHit mean column vs. mean row: Ladder 16 Sensorj

- 1 A
o I 21071
- e
: : g
[ ] Y
X <107 1072
X 1073
o =107
- 107
TP TP wraril BPPEPE IPEPEP B -3
2 4 6 8 10 12 10 0
Mean Column
Entries 47
I Raw Hit column vs. row: Ladder 16 Sensor 5 I
[ — % C
- —— @ 60fF
: m— g [
B — () L
L = 5ol
[ — C
= | 40 =
N — [
: | :
:- 4 ] 30 :-
[ [ ] C
n - 20
3 . 1of
2 4 6 8 10 12
Column

IEntries 2000 l

bumber of raw hits vs. EventID: Ladder 16 Sensor 4I

x10°
2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 30

IHit mean column vs. mean row: Ladder 16 Sensor j

—
|

|
I
|
— -
-
I

4 6 8 10 12

Mean Column



<rawhits>

Mean Row

humber of raw hits vs. EventID: Ladder 16 Sensor 5I

10 -
1F -
[t bbb b b b b e Jx10°
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries
IHit mean column vs. mean row: Ladder 16 Sensor EI
[ 1
L —
50
- —
B |
: |
40
[ —
X 107
30 —
20F
[ -2
1oF 10
: |
2 4 6 8 10 12

Mean Column

Entries 2000

34

Entries 52
I Raw Hit column vs. row: Ladder 16 Sensor 6 I
2 I
x 60
[ 1
50
40
[ 107!
30
20F
[ -2
10f 10
:.I...I...I...I...I...I.
2 4 6 8 10 12
Column

IEmries 2000 |
humber of raw hits vs. EventID: Ladder 16 Sensor 6I

bbbl ML AR RRLAY Rl Rhbbl Rbh) RRbh) R RRbL

<rawhits>

10

bl bl b Jxa0®

2 3 4 5 6 7 8 9 10
EventID (Time)

o
[N

Page 79



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 17 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 17 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 17 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 17 Sensor 2 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 80



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 17 Sensor a

1

[Entries 0]

N =

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 17 Sensor 3 I

1

[Entries 0]

2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 17 Sensor 2I

10

<rawhits>

107t

1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 17 Sensor j

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 81



<rawhits>

107t

1072

Mean Row

60

50

40

30

20

10

10

humber of raw hits vs. EventID: Ladder 17 Sensor SI

2 3 4 5 6 7 8

Entries 2000

><1O3

9 10
EventID (Time)

Entries

Hit mean column vs. mean row: Ladder 17 Sensor

10 12
Mean Column

107t

1072

Entries 47

I Raw Hit column vs. row: Ladder 17 Sensor 4 I

107t

1072

2 4 6 8 10 12
Column

32 IEmries 2000 |
humber of raw hits vs. EventID: Ladder 17 Sensor 4I

e )

<rawhits>

FFPH FPTTI PIT M PP PP PYTTE FETH PITH PPTFI PP ><103

0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)

Page 82



I Raw Hit column vs. row: Ladder 17 Sensor 5 I

1

2 F
04 60_—
s50f y

- <107
40: ]
30F -

" _ -2
20 710
10F

: sy e s s e s sl sl sl ool -3

2 2 6 8 10 12 10
Column

Entries 2000

humher of raw hits vs. EventID: Ladder 17 Sensor SI

<rawhits>

-
(e}
i

1072

1073

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

IEntries 1|

IHit mean column vs. mean row: Ladder 17 Sensor j

o g
x 607
[ L -
© B d
) L
= 50-_ J
X <107
40: ]
30F -
[ _ -2
20F 710
10f
:. l s, o sl el s sl sl gl -3
2 ) 6 8 10 12 10

Mean Column

IEntries O|

I Raw Hit column vs. row: Ladder 17 Sensor 6 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 83



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries Ol

IHit mean column vs. mean row: Ladder 17 Sensor ﬂ

1

N =

4 6 8 10 12
Mean Column

Entries 45
I Raw Hit column vs. row: Ladder 18 Sensor 1I
B |
- 1
- |
- -1
L 10
: _—
y e 107

2 4 6 8 10 12
Column

10

<rawhits>

107t

1072

60

Mean Row

50

40

30

20

10

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 17 Sensor GI

x10°
2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 38
IHit mean column vs. mean row: Ladder 18 Sensor il
—
1
||
—
b S 1
10
e
T 10_2
4 6 8 10 12

Mean Column



<rawhits>

Mean Row

10

60

50

40

30

20

10

I bl Rl R R RAAA RRbb] RLAb R RLbL

Entries 2000

INumber of raw hits vs. EventID: Ladder 18 Sensor j

M A Y PP PP PP PRI PP PP P ><1O3

2 3 4 5 6 7 8 9 10
EventID (Time)

[Entries 1]
1

IHit mean column vs. mean row: Ladder 18 Sensor fl

107t

1072

-3
2 6 8 10 12 10

Mean Column

IEntries 1|

I Raw Hit column vs. row: Ladder 18 Sensor 2 I

= F 1
& 60f III
s0F -
[ <107
40_— ]
30F -
20:_ =102
10f
I TP TP TP IPEE I -3
2 4 6 8 10 12 10
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 18 Sensor 2I
A
9
=
g
Y
1071
1072
1073
><103
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 18 Sensor 3 I

1

N =

4 6 8 10 12
Column

Entries 2000

humber of raw hits vs. EventID: Ladder 18 Sensor 3I

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 18 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries 2|

N =

I Raw Hit column vs. row: Ladder 18 Sensor 4 I

Row

60

50

40

30

20

10

10 12

Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 18 Sensorj

1

107t

]
2 4 6 8 10 12

Mean Column

I Raw Hit column vs. row: Ladder 18 Sensor 5 I

1

2 4 6 8 10 12
Column

[Entries 1]

[Entries 0]

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 18 Sensor 4I

<rawhits>

107t

><103
O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 18 Sensor j

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 87



<rawhits>

107t

10

1072

Mean Row

60

50

40

30

20

10

Entries 2000

humber of raw hits vs. EventID: Ladder 18 Sensor 5I

><103
2 3 4 5 6 7 8 9 10

EventID (Time)

[Entries 1]
1

IHit mean column vs. mean row: Ladder 18 Sensor EI

107t

1072

-3
2 6 8 10 12 10

Mean Column

IEntries 1|

I Raw Hit column vs. row: Ladder 18 Sensor 6 I

= i 1
& 60f III
50 y
X <107
40_— ]
30F -
20:_ =102
10f
:.I...I...I...I...I...I- -3
2 Z 6 8 10 12 10
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 18 Sensor 6I
N
2
= 1
g
\Y
107t
1072
1073
><103
O 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 19 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 19 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 19 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries 1|

N =

I Raw Hit column vs. row: Ladder 19 Sensor 2 I

Row

60

50

40

30

20

10

12
Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

[Entries 1]
1

IHit mean column vs. mean row: Ladder 19 Sensor a

=
o
1N

=107

1072

1
2 4 6 8 10 12
Mean Column

[Entries 0]

I Raw Hit column vs. row: Ladder 19 Sensor 3 I

1

2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 19 Sensor 2I

<rawhits>

-
o
N

1072

><103
O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 19 Sensor j

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 90



<rawhits>

10

107t

1072

Mean Row

60

50

40

30

20

10

humber of raw hits vs. EventID: Ladder 19 Sensor SI

Entries 2000

><103

2 3 4 5 6 7 8 9 10
EventID (Time)

IHit mean column vs. mean row: Ladder 19 Sensor:l

4 6 8 10 12
Mean Column

[Entries 1]

1

107t

1072

1073

IEntries 1|

I Raw Hit column vs. row: Ladder 19 Sensor 4 I

= F 1
& 60f III
50 y
X <107
40_— ]
30F -
20:_ =107
10f
I TP TP TP IPEE I -3
2 4 6 8 10 12 10
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 19 Sensor 4I
A
9
=
g
\Y]
107!
1072
1073
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

Entries 21

I Raw Hit column vs. row: Ladder 19 Sensor 5 I

3 1
é -;10l
; -310‘2
? T 6 8 10 12 107
Column

Entries 2000

humber of raw hits vs. EventID: Ladder 19 Sensor 5I

0 1 2 3 4 5

6

><103
7 8 9 10

EventID (Time)

Entries 16

IHit mean column vs. mean row: Ladder 19 Sensor j

o g
x 60
C L -
@ [ .
<) L
= 50 - J
X <107
40: ]
30F -
: - -2
20 10
10F
[ 1 -3
2 Z 6 8 10 12 10
Mean Column
IEntries O|
I Raw Hit column vs. row: Ladder 19 Sensor 6 I
% F 1 J J J J ]
x 607 -
50 -
40f -
30F -
20F -
10F -
A I PN TP TP IPEPE I

2 4 6 8 10 12

Column
Page 92



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 19 Sensor ﬂ

1

[Entries 0]

N =

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 20 Sensor 1I

1

[Entries 0]

2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 19 Sensor GI

10

<rawhits>

107t

1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 20 Sensor il

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 93



<rawhits>

107t

10

1072

Mean Row

0 1 2 3 4 5 6 7 8

60

50

40

30

20

10

Entries 2000

INumber of raw hits vs. EventID: Ladder 20 Sensor j

><103
9 10

EventID (Time)

[Entries 0]

IHit mean column vs. mean row: Ladder 20 Sensor fl

1

2 4 6 8 10 12
Mean Column

Row

<rawhits>

[Enties o]

I Raw Hit column vs. row: Ladder 20 Sensor 2 I

__I_I_I_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l__
60f -
:
:
aof :
20F -
10 ;
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 20 Sensor 2I
10
1
107t
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 94



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 20 Sensor 3 I

1

N =

4 6 8 10 12
Column

Entries 2000

humber of raw hits vs. EventID: Ladder 20 Sensor 3I

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 20 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 20 Sensor 4 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 95



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 20 Sensorj

1

[Entries 0]

N =

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 20 Sensor 5 I

1

[Entries 0]

2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 20 Sensor 4I

10

<rawhits>

107t

1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 20 Sensor j

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 96



humber of raw hits vs. EventID: Ladder 20 Sensor 5I

N
2
= 10
g
vV
1
107t
1072
><103
0 1 2 3 4 5 6 7 8 9 10

Mean Row

EventID (Time)

[Entries 1]
IHit mean column vs. mean row: Ladder 20 Sensor EI
1
60
50 7
<107
40 -
30 -
- -2
20 310
10
107

10 12
Mean Column

Entries 2000

Row

IEntries 1|

I Raw Hit column vs. row: Ladder 20 Sensor 6 I

<rawhits>
H

107t

2 4 6 8 10 12
Column

1073

IEmries 2000 |

humber of raw hits vs. EventID: Ladder 20 Sensor 6I

1 2 3 4 5 6 7 8
EventID (Time)

><103

9 10



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 21 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 21 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 21 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

N =

Entries 74
I Raw Hit column vs. row: Ladder 21 Sensor 2 I
= [ —
€ 60 —
: —_— 1
50
: —
40 :— —
- —
: 10™
oF —
2of ]
: —
- —
10 X ||
: —
2 4 6 8 10
Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

Entries

IHit mean column vs. mean row: Ladder 21 Sensor a

]
2 4 6 8 10 12

Mean Column

I Raw Hit column vs. row: Ladder 21 Sensor 3 I

1

2 4 6 8 10 12
Column

107t

1072

46

IEntries 2000 l
humber of raw hits vs. EventID: Ladder 21 Sensor 2I

)

<rawhits>

AP PP PP PP PP PP PRI PP PO ><103
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 21 Sensor j

l

60

Mean Row

50

40

30

20

10

2 4 6 8 10 12
Mean Column

Page 99



<rawhits>

107t

10

1072

Mean Row

0 1 2 3 4 5 6 7 8

60

50

40

30

20

10

Entries 2000

humber of raw hits vs. EventID: Ladder 21 Sensor 3I

><103
9 10

EventID (Time)

[Entries 0]

IHit mean column vs. mean row: Ladder 21 Sensor:l

1

2 4 6 8 10 12
Mean Column

Row

<rawhits>

[Enties o]

I Raw Hit column vs. row: Ladder 21 Sensor 4 I

__I_I_I_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l_l__
60f -
:
:
aof :
20F -
10 ;
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 21 Sensor 4I
10
1
107t
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 100



I Raw Hit column vs. row: Ladder 21 Sensor 5 I

= B 1
& 60fF
50 .
- <107
40_— ]
30F -
20:_ =102
10F
:.I...I...I...I...I...I- -3
2 2 6 8 10 12 10
Column
humher of raw hits vs. EventID: Ladder 21 Sensor SI
/\ =3
9
=
1k
g F
v [
107
107%F
1073
o 1 2 3 4 5 6 7 8

EventID (Time)

IEntries 2|

IHit mean column vs. mean row: Ladder 21 Sensor j

o 5
x 60
[ . -
© [ .
<) L
= 50 - J
X <107
40 » ]
30F -
: - -2
20 10
10F
I TP TP TP IPEE I -3
2 4 6 8 10 12 10
Mean Column
IEntries 1|
I Raw Hit column vs. row: Ladder 21 Sensor 6 I
= I
SY] p—
50
40f
30F
20F
10F
2 4 6 8 10 12
Column

Page 101



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

1

IHit mean column vs. mean row: Ladder 21 Sensor ﬂ

107t

=107

FEECIRC I BN RN R RN U N NN R R A 10—3

1

1
2 4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 22 Sensor 1I

2 4 6 8 10 12
Column

rawhits>

<

1074

60

Mean Row

50

40

30

20

10

l

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 21 Sensor GI

2 3 4 5 6 7 8
EventID (Time)

IEntries O|

IHit mean column vs. mean row: Ladder 22 Sensor il

N

Page 102

4 6 8 10 12
Mean Column



<rawhits>

Entries 2000 Entries 13
I Raw Hit column vs. row: Ladder 22 Sensor 2 I

INumber of raw hits vs. EventID: Ladder 22 Sensor j

Row
.
[EEY

><1O3 "l PP BPEPET BPEPEE PR BT 1073
2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column

[Enties2000]
humber of raw hits vs. EventID: Ladder 22 Sensor 2I

IHit mean column vs. mean row: Ladder 22 Sensor fl

Mean Row

60

50

40

30

20

10

1 A
14
. < 10
; g
i Vv
<107
: 1
=102 107t
-2
1073 10 x10°
4 6 8 10 12 0 2 3 4 5 6 7 8 9 10

Mean Column

Page 103

EventID (Time)



Row

60

50

40

30

20

10

<rawhits>

|
o
i

1072

1073

0 1 2 3 4 5 6 7 8

I Raw Hit column vs. row: Ladder 22 Sensor 3 I

]
2 4 6 8 10 12

Column

humher of raw hits vs. EventID: Ladder 22 Sensor 3I

EventID (Time)

1

107t

=107

1072

Entries 2000

><103

9 10

IEntries 1|

IHit mean column vs. mean row: Ladder 22 Sensor j

o g
x 607
[ L -
© B d
) L
= 50-_ J
X <107
40: ]
30F -
[ _ -2
20F 710
10f
:. l s, o sl el s sl sl gl -3
2 ) 6 8 10 12 10

Mean Column

IEntries O|

I Raw Hit column vs. row: Ladder 22 Sensor 4 I

l

Row

60

50

40

30

20

10

4 6 8 10 12
Column

N =

Page 104



Mean Row

Row

IEntries Ol

IHit mean column vs. mean row: Ladder 22 Sensorj

crrTrrr[ T T T
60f -
50 -
:
30 -
20F -
10 -
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Mean Column
Entries 41
I Raw Hit column vs. row: Ladder 22 Sensor 5 I
60
1
50
40
107t
30
20
-2
10 10
2 4 6 8 10 12
Column

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 22 Sensor 4I

N
2
= 10
g
\Y
1
107t
1072
x10°
0 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 38
IHit mean column vs. mean row: Ladder 22 Sensor j
3
x 60
s
P 1
= 50
40
107t
30
20
-2
10 10

2 4 6 8 10 12

Mean Column
Page 105



<rawhits>

Mean Row

Entries 2000

humber of raw hits vs. EventID: Ladder 22 Sensor 5I

WHWW

10 -

1 -
bt b Ix10°

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

[Entries 1]

IHit mean column vs. mean row: Ladder 22 Sensor EI

1

60fF
50

- 107t
40
cle]

C -2
20 10
10F

= 107

10 12
Mean Column

IEntries 1|

I Raw Hit column vs. row: Ladder 22 Sensor 6 I

= F 1
& 60f III
50 y
X <107
40_— ]
30F -
20:_ =102
10f
I TP TP TP IPEE I -3
2 4 6 8 10 12 10
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 22 Sensor 6I
A
9
= 1
g
Y
1071
1072
1073
><103
0O 1 2 3 4 5 6 7 8 9 10

Page 106

EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 23 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 2000

INumber of raw hits vs. EventID: Ladder 23 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 23 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries 1|

N =

I Raw Hit column vs. row: Ladder 23 Sensor 2 I

Row

60

50

40

30

20

10

Column
Page 107



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries 1|

IHit mean column vs. mean row: Ladder 23 Sensor a

Mean Column

IEntries 2|

:- I
:. Lo o o b o o b o 1 o a1, a1,
2 4 6 8 10 12

107t

1072

1072

Raw Hit column vs. row: Ladder 23 Sensor 3

L i cotumn e row: Ladde 20 Sercor 3

2 4 6 8 10

12
Column

<rawhits>

-
o
N

1072

60

Mean Row

50

40

30

20

10

Page 108

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 23 Sensor 2I

><103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 1|

IHit mean column vs. mean row: Ladder 23 Sensor j

4 6 8 10 12
Mean Column



Entries 2000

humber of raw hits vs. EventID: Ladder 23 Sensor 3I

N
2
=
\Y
107t
1072
1073 x10°
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
[Entries 0
IHit mean column vs. mean row: Ladder 23 Sensor:l
O LALLM L L L I
@ 60f -
c [ ]
3] L -
() B -
= S50 -
40 -
cle] -
20F -
10F -
5 Pl IR I R R R R ]

2 4 6 8 10 12

Mean Column

[Enties o]

I Raw Hit column vs. row: Ladder 23 Sensor 4 I

: prroTTrTTTTTTT T
x 60 -
s0F -
:
30 -
20F -
10 -
:.I...I...I...I...I...I.:
2 4 6 8 10 12
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 23 Sensor 4I
N
z
= 10
g
\%
1
1071
1072
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 109



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 23 Sensor 5 I

1

N =

4 6 8 10 12
Column

Entries 2000

humber of raw hits vs. EventID: Ladder 23 Sensor SI

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 23 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 23 Sensor 6 I

l

Row

60

50

40

30

20

10

4 6 8 10 12
Column

N =

Page 110



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries Ol

IHit mean column vs. mean row: Ladder 23 Sensor ﬂ

1

N =

4 6 8 10 12
Mean Column

Entries 36

I Raw Hit column vs. row: Ladder 24 Sensor 1I

2 4 6 8 10 12
Column

10

<rawhits>

107t

1072

60

Mean Row

50

40

30

20

10

Page 111

IEntries 2000 l

bumber of raw hits vs. EventID: Ladder 23 Sensor GI

x10°
2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 24

IHit mean column vs. mean row: Ladder 24 Sensor j

10 12
Mean Column




<rawhits>

Mean Row

Entries 2000

INumber of raw hits vs. EventID: Ladder 24 Sensor j

T[T T[T T [T [T T[T T[T [ TIT T T IT 7T

10 =
PP P FITTT PP PETTI PP PETTE FETTI PP PP x10°
o 1 2 3 4 5 6 7 8 9 10

EventID (Time)

Entries 0]

IHitmean column vs. mean row: Ladder 24 Sensor fl

crrTrrrp T T
60fF .
50f .
40F -
cle] .
20F .
10F .
:. Lo o o o oo 1o o o1 0 o101 .:

2 4 6 8 10 12

Mean Column

[Enties o]

I Raw Hit column vs. row: Ladder 24 Sensor 2 I

l

Row

60

50

40

30

20

10

4 6 8 10 12
Column

IEmries 2000 |

N =

humber of raw hits vs. EventID: Ladder 24 Sensor 2I

N
2
= 10
g
\Y
1
107t
1072
><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)
Page 112



Row

<rawhits>

I Raw Hit column vs. row: Ladder 24 Sensor 3 I

1

60f
s50f y

- <107
40: ]
30F -

" _ -2
20 710
10F

: sy e s s e s sl sl sl ool -3

2 2 6 8 10 12 10
Column

Entries 2000

humher of raw hits vs. EventID: Ladder 24 Sensor 3I

I bl Rl RS b RAAL Rbb] Rhbb R RLbb
l— —

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

IEntries 2|

IHit mean column vs. mean row: Ladder 24 Sensor j

o 1
x 60
[ . -
@ [ i
<) L
= 50-_ J
X <107
40: ]
30F -
[ - -2
20F 310
10F
:.I...I...I...I...I...I- -3
> 10

Row

60

50

40

30

20

10

l

4 6 8 10 12
Mean Column

IEntries O|

I Raw Hit column vs. row: Ladder 24 Sensor 4 I

N =

Page 113

4 6 8 10 12
Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries Ol

IHit mean column vs. mean row: Ladder 24 Sensorj

1

N =

4 6 8 10 12
Mean Column

Entries

25

Raw Hit column vs. row: Ladder 24 Sensor 5

Column

10

<rawhits>

107t

1072

60

Mean Row

50

40

30

20

10

Page 114

IEntries 2000 l

humber of raw hits vs. EventID: Ladder 24 Sensor 4I

x10°
2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 15

IHit mean column vs. mean row: Ladder 24 Sensor j

10 12
Mean Column




<rawhits>

Mean Row

10

60

50

40

30

20

10

Entries 2000

humber of raw hits vs. EventID: Ladder 24 Sensor 5I

2 3 4 5 6 7 8 9 10
EventID (Time)

IHit mean column vs. mean row: Ladder 24 Sensor EI

1
107
107
4_ 6 8 10 12 107

Mean Column

IEntries 2|

I Raw Hit column vs. row: Ladder 24 Sensor 6 I

= - 1
& 60f .
50 y
X <107
40 ]
30F -
: - -2
20 10
10f
:.I...I...I...I...I...I. -3
2 4 6 8 10 12 10
Column
IEmries 2000 |
humber of raw hits vs. EventID: Ladder 24 Sensor 6I
A [TTTTTIrr[TTTT[TITT [T T[IT T [TITT[TIrT[TIIT[TTITT)
2
<
g
\%

0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)

Page 115

M P PP FEPH PP PITH PP PEPH PPTT PP ><103



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115


